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PART -1
GENERAL KNOWLEDGE AND APTITUDE TEST A

1. The following state ha-é become the first Indian state to observe the 'Child
Protection Day' in collaboration with UNICEF.

(1) Tripura ~ (2) Sikkim
(3) ,"';‘.EHI-]I]'J (4) Meghalaya

DR &° SO T SOUFET B0 etiidS ) Boow Bl gros B% oRe.

(1) @6 (2) 3o
(3) oo (4) oo

2. A simple 'paper test' has been developed to detect cancer by this scientist.
(1) Sangeeta Bhatia (2) Richard Henry

(3) Harminder Dua (4) Angela Merkel

SHO TR SRS b oogRad b B o trdetols TS,

(1) 3RS grdosr . (2) OubWvR
() bosbeser (4) DoBoE
3, . The indelible ink which is used during elections, contains this chemical.
(1) Cellulose acetate (2) Sodium iodide
(3) Potassium permanganate (4) Silver nitrate

oS0 HBe :u:cig ENAITAcD DB Lo &° ot SEvesie.,

el

(1) e SEBS (2) Hdcto e@E
(3) Sreriscioo ﬁ%ﬂm (4)  2ebBS
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4. Kalisindh super thermal power plant is located at Jhalawar districtof ..........

(1) Maharashtra (2) Rajasthan

(3) Gujarat (4) Tamil Nadu

oG 2end’ e B0 578 gt 156 e ¥OA EHTEO eesersns

(1) m@ : (2) Eﬂai‘fﬁ

(3) Kewod - (4)  H2STE
5. '‘Entomology' is the scientific Studyiol i

(1) insects (2) . animals

(3) human beings (4) birds

‘DORTE! B TR0 ARG . i,

(1) Seszven - (2) zotiHen
(3) SSHes (4). B%eo

6. 'Durand Cup'is associated with the Eamneof . o
(1) ericket (2)  tfootball
(3) hockey | (4)  wvolleyball

‘Garel 5’ (Durand Cup) % iSeeofodb e ...

(1) 888 (2) HEb

(3) 8 (4) bhob

RB-11 3]
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1. The following amendment is called a mini constitution of India.

(1) 42" Amendment (2) 44" Amendment

(3) 61° Amendment (4) 69" Amendment

5 Do T OHOTI DG H9TEa.

(1) 4235850 (2) 4435558,

(3) 61% 8558 (4)- 69303550
8. The 'Hutli' mines in India are famous for ............c....c.

(1) uranium (2) gold

(3) bauxite (4) coal

U5 S8o6T 45063 18000 Ded8 BB us rusieesersesuanns

(1) cxstahe (2) womte

(3) @By (4) T

9. This is a substance secreted from a number of species of insects.

(1) pearl 3 (2) coral

(3) lac : (4) glue
ek deo¥ emitioe ood (B STPEe.

(1) S (2) Snse

(3) oy, (4) 08
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A

10.  'Rani-ki-vav' which has been declared as the World Heritage Site-2014, 1s an

11t century stepwell located in .......ccccceene
(1) Karnataka ’ (2) Gujarat
(3) Rajasthan (4) Haryana

50 TPty L‘;.&é;‘é:ﬁ-ﬂﬁ 14 1 HEdoweds ied-3-rl! o 11 9 Fored BILEwr G

(1) Sores (2) Kowuod.
(3) E‘ﬁﬂ;s (4) o
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11.

12,

13.

14.

15.

PART - II (A)
GENERAL ENGLISH

The most commonly used 'leave taking' in business lettersis ...........

(1) Yours Affectionately (2)  Yours Lovingly

(3) Yours Sincerely - | (4)  Yours Faithfully |

Choose the wrongly spelt word from the following words :

(1) Receive (2) Conceive
(3) Deceive (4) _ Releive

I think that's ........... (awful) thing to say.

Choose the correct article that fits the blank.

(1) anawful DY awhul

(3) aawful (4) theawful
Sport s .......... (interesting) than politics.

Choose the correct comparative form for the word given in the bracket.

(1) most interesting (2) . much interesting
(3) more interesting (49 very interesting
I'm not speaking to Hari. I've fallen ............ with him.

Choose the right prepnsiﬂnn that fits the blank.

(1) away (2}/ out

(3) back (4) through

RB -11 6]



16. A : Haven't you got enough money for a holiday?

B : Oh yes. I've got some gsaved up ....... I suddenly need it.
Choose the correct word to complete the conversation.

(1) if (2) that

(3], unless (4) in case

17. She pronounced the word quite correctly.
The part of speech of the underlined word in the above sentence 1s a/an

(1) adverb (2) preposition

(3) adjective (4) verb

18. The collective noun used to describe 'a collection of ships or vessels 18 ..........

(1) aflock . (2) acrowd

(3) an army : (4). afleet

19. The plural formof'self’ is

(1) selfes - (2) selvs

(3) selves (4) sclfs

20. 'The dogwas hit with a stick,
The active form of the above sentence is

(1) Somebody hit the dog by a stick

(2) Somebody hit the dog with a stick

(3) The d{:-g‘was hit by a stick

(4) The dog was hit by a stick by snﬁ‘neb{}dy

RB - 11 [7] Turn Over



21,

22,

24.

25.

RB-11

" PART - II (B)
- GENERAL TELUGU

mwaémgmm%m ...................
(1) eOdceeN (2) B rUdo
'(3} SR HUTE (4) DT
e’ - e

(1) ST (2) edno

(3) eotioSh T (4) HHRT

(D587 (STRCTT 110 By BEAD orereserevsaese

(1) 58 (2) 5ErPR%°

(3) KOy (4) o0

5556 (SEOE B0 WO BHERD ovvsresseraeness

(1) mﬁaﬁ BB (2). &uolo BRFHTR)

(3) Koot ool 98 (4) wedr©e méﬁm‘.ﬁ Ca
‘m@ﬁ'm’ SN TR DEBS - ORISETHe

{1}: B0 + w0 (2) wof+ e

(3) B8 + TP (4) 2008 + SoPe0
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26.

217.

28.

30.

SeTTEEE’ BT G0 B0 SEHPOS SRGIFACS HEBo $PDoD Bat.

(1) T o

(3) Dy 3o

(1) Roows-

(3) &dod

teod)s S’ @150 DD 110 EROVEED 1ecvrusrssannnes

(1) HoXoKrd SSidelic

(3) KB sIoS

(1) Socte

(3) oo

1) &

(3) &saro

RB-11

(2)

(4)

(2)

(4)

(2)

(4)

(2)

(4)

 1p,00b eyotsRnot e QI Bpes BIC RO Ssat

(2)

(4)

SaTmsY (o

Tyl ot

1178
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a1, ‘@&EES’ - e9r0 Hrd wie.

1) =8 (2) 08
(8) @& (4) B8
82, ‘Al GNTH0" - 09100 KIS0 BE0B i
(1) @ b TCCweod (2) G SO Pl
(3) . OFEE BT (4) .0 Pocr. ¢

83, T (30U SSEPNON TIOTTUO ccuvnsrennnsii

(1) S evgeo (2) elEsTEs
(3) IR0 @) D

84, GG 0% BOBEPEI00D ...erevresernene

(1) %5506 (2) el
(8) BEBBo (4) Dowd e
85. 408500050 SE0ETD HERE0 v aaanaens
(1) &Sm0 s SETPouse (2)  ESom0 GBS SEEEa0
(3) TBises TS SHEReie (4) TRisps SHESE SHprtoie
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86. 2,8 TROTOBSSBED ierienieaens

(1) 50 | | (2)  Bteo®
(3) B9 | (4) eiclo

37, TPOHIE Ded? - e FOEIW ABETOIITD .o veeseonsencaees

(1) oo GTTey | (2) " Rowy

(3) TERCETEETD (4) G 8D SR

38. Tl wilsgiic T @le &0l - e T T, Siro DOLTP DS Ee.

(1) e epidlo &) 8 T° eidogiio (2) w5 eisdito o5 &P 80 &0
(3) % errr aistio &y X wiiogie (4)  emsto &y P eogo w833

39. ‘Jﬁﬁﬁﬁﬁam: iy PO 0 BT NP P oo — Lk Bl T WIgs Delnl.

(1) Sessare | (2)  muire
(3) mXreo . (4) e

40, 3,8 ;o 0 500 Fol S'ab aclicis ¥o o,

(1) %0 (2) wBd
3) Soores ' (@) oz
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41.

PART - ITI (A) . @
MATHEMATICS

If'f' is a constant function and f(2)=10, then £(5) isequal to .....cc.ceeunv.

' 2 350 hocisiie BB £(2) =10 90350 [ (5) DOFS ..ovverensnariat
(1) 5.
2 10
(3) 20
(4) 50

If @ #b , then the condition for 24 ax+b and x? +bx +a tohave a common

T L s L

a#b ec®x®+ax+b ‘."::Ecﬁ::a.xz +bx +a o5 %&Wﬂhémﬁéboﬁmm"

(1) a+b=0
(2) a=b

B) a+b=1
(4) a+b=-1

' Space for Rough Work

RB - 11 ' )
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5 q
43. The middle term in the expansion of (2:!’ + g ] is

P T Y
)
2
_|_

@ |~
—
o
Lg

(1)

(2)

(3)

(4)

ol Wl Ml Wl

44, TIn an A.P., the p* term is '¢' and the (p -Fq]“‘ term is '0' (zero). Then thé

G LOTIOIE calneeeeninses
ﬂmﬁép'ﬁam'qv‘mﬂmm+an$m'U'(m:aa)eamé'q':::sm.............
-

(2) p

3) p+gq -

(4) p—q

Space for Rough Work
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45. The solution of the ;aquatinns 2* +2Y =20 and x +y =6 1S .ecceeerennnne,
2"+ 27 = zﬁ S00050 & + = 6 &I SRBETO T v evraersaenens
(1) 2,4 ' (2} 3,3
(3) 5,1 : (4) 4,4

46. The average marks of 50 students is 80. If the marks of one student

are taken as 73 instead of 37, then the correct average is .................

50 soed bﬁ*ﬂﬁtge o8, © S0 80. .5 EJEFSQ b e 31 & 03359030 T3 90 HoP92aE00 esaoodd

i Tt 7 L R
(1) 80.72 (2) 179.28
(3) 78.28 | (4) 76.28

47. The median of the data 15%, 15.03, 15, 15% and 153 18 . it

15%, 15:03, 15, 15% 900050 15.3 Saroianss GRook), WMot .vrrsserese:
(1) 15.3 roy o 98
(3) 1503 - (4) 15.66

Space for Rough Work

RB-11 [14]



50.

A

In a AABC, the midpoints of the sides are D, £ and F. If the perimeter of the
AABC is 16 em, then the perimeter of the ADEF 1s.................cm.

D, E 508050 F oo AABC oo @iy Delioges. AABC “oexf’d 16 OGaaid. BICOSD

ADEF :’J:ug&‘aﬁ ('::n.h:.aéﬁ)
(1) 32 (2) 8
(3) 12 (4) 4

AB is a chord of a circle with center 'P'. If [PAB = 30", then [APB 18 ..coooeeveeee.

'P' So|tSansme m:@@.“mﬁs AB w5 |[PAB = 30° @od |[APB D808 .iiuiisiaenen.
(1) 60° (2 00°
(3) 120° (4) 150"

‘The angle of elevation of the sun, when the length of the shadow of a tree 1s

J3 times the height of the treeis .................
15 Dy oo, e ey T0 D3t 3 Besp Eiuaoasd s ooy, SRS ...
(1) 30° 2) 15°

(3) 60° " (4). 45"

Space for Rough Work
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51. If the cost price of 21 articles is equal to the selling price of 18 articles, then

the gain percentage S

21 SS9 Bo@e 18 HiaiHo edoyd ok SEIEHs D TR0 e s
LS RS | (2) 15%

(3) 16% (4) .162%

52. If a sum of money at sirﬁple_ interest doubles in 6 years, it will become
4 timesin .................years,
PG $G (B5PER ST T 6 SOBHTEEE" TR CIbH0. @0 ooy 4 e el
58 s (Sonws')

(1) 12 (2) 14
(3) 16 (4) 18

53. If the length of a rectangle is halved and its breadth is tripled, then

the percentage change in areais..................

(1) 25% increase. (2) 50% increase

(3) 25% decrease _ (4) 50% decrease

2.8 DUSEOEsN0 ool S SRS Bhod Kicts Dieoyts Hart: Tuy B PPeshs’

(1) 25% w&orote (2) 50% »&ordse
(3) 25%6Kse (4)  50% BKxse

Space for Rough Work

RB-11 [16]



54.

55.

Ifthe sum of n terms of an A.P. is 2n° + 3n , then the n't term iS . ceveensssnsses

Lﬁﬂﬂﬁ@&ﬁsn ST WG 92 + 30 LICISDIL 09 RS wevirerarannansns

(1) 4n+1
(2) 4n-1
(3) 2n+1
(4) 2n-1

s s @
If (4.8)” =(ﬂ.48)‘? =1000, then th!a value ﬂf;—; 1 e S

1,1
(4.8) =(0.48)" =1000 @033 =~ 7 D vcrernvve
(1) 3
(2) -3
3) 7
S
) ==
3

Space for Rough Work

RB-11 | [17]
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A

56. If Log2=0.3010 and Log3=0.4771, then the number of digits in

Log 2 = 0.3010 00 Log 3 = 0.4771 0 12'% &P 0030 0%y cvtvne ianeneecees
(1) 12 (2) 13
(3) 147 (4) 15

57. Inadivision problem, ifthe dividend is 1261, the divisor is half of the quotient

and the remainder is 11, then the diVISOT 18 . .iuaessincncases

L% s 558 Dpagios 1261 greton R Roedt o BeOoe i 11 oD greti

(1) 15 : 2) 20
(38) 25 (4)” 50

58. Thesquare root of (ab—ac -E:w:)2 +4abc_(a +8) 1S corencrrireenes

(ab-ac —be)’ +4abc(a+b) :ﬁ::ﬁg{ﬁtﬁﬁaﬁum

(1) ab+bc-ca
(2) ab-=bc+ca-
(3) ab+bc+ca

(4) agb-bc—ca

Space for Rough Work

o
A
Q.A

&
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59. The equation of a line whose x-intercept is 2 and parallel to the line

2+ ¥y —-1=018..c0ciiirinreeees

2% +y—1=0 35RPCHETT GoeT X-e0BOPOtEe 2T Ko Bep BOOEEAEIS oo
(1) 2x+y-4=0

(2) 2x+y+4=0

(3) 2x+y-2=0

(4) 2x+y+2=0"

60. The length of the side of an equilateral triangle inscribed in a circle of radius

BCMaR ., . G,

6 200.:0. TEIEE 112 ) 506° 2.5 0w (BEbesion 3Red &, & (Ggtwnms ghesn Ses
(Ro.0eé’)

1) 2437

(2) 3.3

(3) 43

(4) g3

Space for Rough Work
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PART - III (B) f
PHYSICAL SCIENCES A

61. Choose phe physical quantity that is different from the others.

(1) Length (2) Velocity

(3) Force | (4)  Acceleration
8ol FPOE THis0E® BT o, O 3.

(1) &t::@ Ao iﬁc

(3) oo, | | (4) eo |

62.  Choose the equation showing the correct relation between the Centigrade and

Fahrenheit divisions.
1 8D 06" VoG, SORnS Do oz 061 Sowoged, BOAIS shoktie.
(1) 180°C = 100°F ¢ (2] 100°C = 180°F

(3) 100°C = 212°F (4) 212°C = 100°F

63. Number of grams of carbon dioxide liberated when 10 grams of calcium

carbonate is heated is s BTSN

10 grisace s°Rao SEG DEDS DEEBH TS & 63,6 ertiios [rhaedt

(1) 3.52 (2). 44

(3) 44 ' (4) 35.2

RB-11 [20]



64. Time period of a simple pendulum depends mainlyonthe..........co....

(1) mass of the bob (2) shape of the bob

(3) material of the bob (4) length of the pendulum

oG NI Bk, Elommuiss Sveo Sorsern T T e N
(1) Ao G0, 5508 25 (2) R qol, essto s

(3)  Riesao Boimts Daioedss $orgo (4) Somso @uy, Sy

65. The nature of the final image formed in the astronomical telescopeis............
(1) inverted

(2) erect
(3) neither inverted nor erect

(4) diminished
q:ﬁﬁﬁﬁﬁéﬁ&?ﬁﬁiiﬁ%&wﬂ@ﬁﬂcaﬁﬁnﬂn%ﬁﬁﬁﬁm.......,.........
(1) Sodotoes

(2) e

(3) | Ho(Soloenr SPHOER So80Kw NPT oo

(4) DSs8s00 ~

66. The charge of protonsin Coulombsis .................

PR et Sreresedt ..
(1) 1.602x10-* (2 1.602x10
(3) 1.602x10% (4)  1.602x10™

RB-11 [21] Turn Over
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" 67. When abody is in a uniform circular motion, the physical quantity that remains

constantis...............
(1) angular displacement (2) linear veluﬂit};
(3) centripetal force (4) angular velocity
£.5 50 SESRTIIHS e0S” Esnts 0T DT TSR ...vv.veeseseaee
(1) Sedod> Jsigioso (2).  EDawdtio
(3) edEoEwes (4) Selck wiie

68. Diamagnetic substance from the following is .................
(1) oxygen | (2) . air
(3) nickel (4)  iron
BoB TPRE’ LOP eCLTOD STRGAD ... e s
(1) esdyed (2)  m®
(3) 36 N (4)  Zasses

69. The formula for epsom saltis.................

.D;Slaaaﬁ;’:mm:ﬁnﬂz;@"ﬁa&ﬂ“............,...,
(1) MgSO, 5H,0 (2r  MgSO, 6H,0
(3) MgSO, TH,0 (4) MgSO0, 8H,0

70. Therefractive index of a diamondiS.......cooevennns

B(E200 G0k, DS KPS0 L.
(1) 241 (2), 2,32
(3) 2.23 (4 2.14

RB-11 [22]



71.

72,

73.

74.

RB- 11 | 23] Tur:

PART - III (C)
BIOLOGICAL SCIENCES

Silk i1s made up of a protein called.................

(1) albumin (2) fibrin

(3) fibronectin | (4) fibroin
(1) wondod (2) DS
(3) PSS (4) 7 pS%nd

Which one of the following pairs is not correct?

(1) NIN - Hyderabad (2) CRRI - Nagpur

(3) IISR - Lucknow (4) CCMB - Hyderabad
&2 (300 TAE" 58I 2 989

(1) NIN - 2poeers . (2) CRRI-=Ryr6
(3) IISR - oS (4) CCMB - ipoeers

Which one of the following is a nunf_ilamentuus.ﬂmgi?

(1) Mushroom ; (2) Yeast

(3) Mould (4)  Aspergillus
T (300 T3E° wied Hrie Hod Qonese S0nainesd 2beres?

(1) o8, s (2) ©w
(3) %5 (4) 25005

The chemical which induces polyploidy in plantsis .................

(1) camphor (2) atropin

(3) colchicine ' (4) chlorine

7‘*..-::5&.2:’55 &@J%@;& ( :;:;"ﬂ.:fgﬂ-f 2 Seoheokos 5?:}“::&::3::,

(1) Szeeisé (2)  epShS

o

(3) S6258 [CHRE-




75.

~ 176.

.

A

Example of the particulate pollutant released by automobiles using petrol

1B e i
(1) tetraethyl lead ' (2) chloroflouro methane
(3) carbon monoxide (4) soot

2595 D AGIPRCED T 000 DES eiosTrs I SsEPIS GTHRTEES v

(1) Beregbet (9) STITRS
(3) SGRAFIHE L (4) S (k)

The instrument used to measure BMR (Basal Metabolic Rate)is a

(1) sphygmomanometer (2) ‘micrometer

(3) gyrometer ' (4) spirometer

b 0werdE T (BMR) R oS ESEDPNCD SOV «ecernraesranesn

(1) MnftsrSaeesh | (2) SpEW0eb
(3) ASR0wbs (4) Ehoeb

In submerged water plants, CO, diffuses through the .....c.c....ceee
(1) xylem (2) guard cells

(3) stomata : (4) epidermis

5 636° 5000 ciased B0o% 088 CO,, (575 T eB6) 0P DiS0es DOEOOB ovvvvesaenses:

(1) orlcSeerenm (2) USS Seve
(3) SEorew | (4)  wriomg WG
11 24]



78.  Diabetes mellitus is caused due to the deficiency of ........cc.vus

(1) insulin (2) vasopressin
(3) adrenalin (4) glucagon
EOSPBES DD TG ..o, G50 5055 Se0T58500 .

1) 5505 @ s
(3) =S (4) KPS

79. The mambrane in the embryo which establishes connection with the walls of

the uterus and helps in the supply of nutrients and removal of wastes is

thpaiot
(1) ectoderm - (2)  mesoderm
(3) amnion (4) chorion

Tmye0%0 Botishon & Sowoiso aq}dmm ROGI3 Fiss $epen wotsaviio 6, DS Nisie S0

SIS TS e .,
(1) 2lrgggsam | (2)  Sogcsasan
(3) deinr @) soensy
80. Deﬁmency OLNN........ vitamin causes sterility in males and abortions in females.
(1) caleiferol (2) retinol
(3) tocopherol (4) phylloquinone

DTS S0, S0 IS, SeonEotss Deadd S ...

(1) s*&3eé (2) Bk>d
(8) %8, (4) EEIS
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81.

82,

83.

PART - III (D) -
SOCIAL STUDIES £ &

The river that rises in the Brahmagiri hillsis the..................

(1) Cauvery (2) Mahanadi
(3) Narmada (4  Tapi
(EKmAS SPotsE® IS8 irreraneonranee

(1) =28 | 2) s

(3) 58S (4) ®uS

The classification of climates based on the water balance concept was given

(1) Koppen (2)  Amartya Sen
(3) Thornthwaite (4) D.R. Gadgil

BODCTOTS S et %ﬁﬁg‘%&mﬁ: SOBBODD ... eenreeeene

(1) Sy ' (2) eboe
(3) oS | (4) f&.ﬁﬂl"ﬁ.“%g"

This shipyard was set up with Japanese collaboration to build very large ships.

(1) Vishakapatnam (2) Mumbai
(3) Calcutta : (4)  Cochin

2P Bi0108’ POTELRO DBOD POTE ..oveveseenene:

(1) degswen’ (2)  Ssowra

3) s (4): 505
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84. The king who appointed 'Poligna' as the prime minister of France was

(1) Charles X (2)  Louis Philippe
(3) Napoleon (4) Napoleon III
O 90 (300 (R0 K00 QAKBDIODS T v

(1) X:@EF (2) erwrsdh

(3) PFOAHS (4) Il 2F8as

85. Dilwaratempleis situated at..................

(1) Mount Abu ' (2)  Ooty
(3) Srinagar | (4) Simla

(a1 o Ao v Dol F ot o o S oy

(1) %35 esza0 (2) &
(3) Bwnb - (4) Sy
86. The country that was humiliated by the Treaty of Sevres was .........o......
(1) Sudan ' (2) Turkey
(3) Japan (4)  Indonesia
=

wi . TP e i{urnr_wﬂ-" L A4 =§ .
?::‘NCI':-:":\-H o P T S, e ‘-.-::.'L:'n-.i A LT B i
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(1)  Somre (2) 0,
(3)" &35 (4) gollungdr
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87. In‘1937, during the elections in the British period, only these people had the

right to vote.
(1) Soldiers (2) Farmers
(3) Educated (4) Everybody

19375 So:y506" DR 63 Tocs® Do Josest Ho8 s L o, BodB,

(1) 2%en | (2) Cooen

(3) Dcrgsotses - (4)  woxod

88. Thenewspaper, 'Iskra' was edited by ................

(1) Mussolini . - (2)  Lenin
(3). Hitler (4) Cavour
RIS TPTP (B SO0 SATODD .ot ies et

(1) 50R0 - ‘ (2) a0
(3) ek (4) ¥orb

89.  In India, the national sample suwe}r.treats the underemployed as those

working for less than these hours per week.

0 50l e St K 15y o3 ) Howe Kol B, 5IBH 0D wey & Semrom

(i) 10 - 2 12
3) 14 - : 4) 16
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90.  Thecyclones in Australia arecalled..................

(1) Cyclones (2) Typhoons
(3) Willy-willies - (4) Hurricanes
E@Wﬁ‘a DETTROR0 1 SEE DO e

(1) Sogrves - (2)  JPeven

(3) 29-2 (4)  $ESes

91. Command area development programme was introduced to .................
(1) bridge the gap between major and medium projects
(2) increase the gap between majbr, medium and minor projects
(3) equalize the gap between major, medium and minor prajectsl

(4) decrease the gap between major, medium and minor projects
Sared bﬁoﬁﬁ* 0P8 DGz, B0 555 DT,

(1) 575, ssots; 0% (PRS0 Kogsy S0, BOBEO

(2) 470, g5 6858, i, st (FEwe % BT, OB

(3) 5r0, Rogy BUSS, 01%) B0 (B0 Hots; B0, S50 Sl

(4) 998, o055 5% iy 6058 (SBG0 ots 87070, BoSTD

92.  The salinity in the Baltic Sea is

1) 7.2% - ' 2) 8.2%
(3) 9.2%” 4)  10.2%
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93. The largest anacondas in the world are found in this natural region.

(1) The tropical hot deserts
(2) ' The equatorial region 2
(3) The tropical grassland region

(4) The monsoon land
©isowed’ S e ol Somes e BHB B wotiocd® doura.

(1) afsootie Jurtoss
(2) 27l T Boctivo
(3) asiootio BinSwod Febo”

(4) eots S50 Soctioo

94,  The government servants; 'Mandarians' belong to this civilization.

(1) Ancient China (2) Ancient Greek

(3) Ancient Persian (4) Ancient Roman
ot Eou’ By &S bes &t TPHOSEE DoBERR. |

(1) Do , RN () BT v
(3) (>9GOS 4) S0 5s,

95. The power of judicial review was restored through this constitutional
amendment.

54 Tremol 15es TP g0l FPRTToN) BOR ST 0t liicl.

L

(1) 39 (2) 40

(3) 41 (4) 44
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96. Regional rural banks were set up, following the recommendations of a working

group headed by .................
(1) I.V. Subba Rao (2) Raghu Ram Rajan
(3) M. Narasimham (4) Manmohan Singh

(PODIO ([Pa8? EP0N000 O e DTP00 98),of TIPS Seit B Jome Babudio.

(1) .. 2P (2) G ol e
(3) oo, Sthore (4) *-’::.:555315 oh
' : .

97. On December 22" the sun rays fall vertically on this latitude.

(1) Equator - (2) Tropic of cancer

(3) Tropic of capricorn (4)  Arctic circle

GRowd 22 1% T+ egredan » Srtdteras oot SEEra.

(1) o B (2 Wy
(3) SoBHTp (4) es0),e3E Deaoo

98. - This British Governor General changed the name of District Supervisors as

Collectors.
(1) Cornwallis (2) Warren Hastings
(3) Wellesley (4) William Bentick

52 [DIRMSE 2508 e s Tetiso SBRLTE D ST,

(1) =505 , (2) =65 ek
(3) 8k (4] 0BowS: Bouls
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99. Now we are in this five-year plan.

Siat0 T SOWRY BrroT Srood’ S,

(1) 10 eyl
(3) 12 (4) 13
100. Banks were nationalized in the year.................

P OO0 B4 HORE" EPOAEUES SO coosansersses

(1) 1966 (2) 1967
(3) 1968 (4) 1969
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